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Questions (8 pts): 

Consider intensity of the diffraction pattern described by single-slit aperture of width b and the same aperture apodized with A(y) = cos (y/b).  
1) Find the intensity values at ky = 0. Compare apodized and non-apodized values. How much intensity did we lose, if any, at this point, due to apodizing?

2) Find the intensity values at ky =/b and 2/b. Compare apodized and non-apodized.

3) Compare relative behavior of the two functions at large ky.

4) Using results of 1)-3), sketch normalized functions. What benefits would one get from apodizing an aperture this way for imaging?

